Science 10 Bio Review
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1
Many plants demonstrate thigmotropism – the tendency to move towards touch. They have small finger-like projections called tendrils that wrap around anything they touch. 

a. Define “tropism”
 
b. This response is caused by auxin being released on the non-touched side of the plant – what will occur as a result of this auxin? 
2.
Identify the contribution of each of these researchers in describing phototropism


a. Charles Darwin (1880)


b. Peter Boysen-Jensen (1913)


c. F.W.Went (1926)

3
a. Write the balanced chemical equation for photosynthesis.

b. Name the organelle in which it occurs and the enzyme involved.

c. The peaks on the graph below show which wavelengths of light is best absorbed by chlorophylls a and b (as they are known). Make a hypothesis: what is the wavelength of green light?
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4. 
a. Identify the leaf tissues most involved in performing these roles:


i. control of air movement



ii. photosynthesis



iii. reducing evaporation from the leaf surface



iv. allowing for air movement inside the leaf



v. delivering water to the leaf cells



vi. removing glucose produced in the leaf


b. Explain how guard cells open the stomata (use the words active transport and osmosis in your answer.)
5.
a. Explain why turgor pressure builds up in root cells.

b. Name the two methods that move water through the dead xylem cells.

c. This diagram illustrates how glucose is moved into phloem.




[image: image2.png]




i. 
Phloem has a high concentration of glucose, so ______ transport must 


move glucose into the phloem cells.

ii. 
Osmosis causes water to enter the phloem because xylem sap is 



_____tonic compared to the phloem sap.

iii.
 ______ pressure increases as the glucose and water enter the phloem.


iv. 
Fluid in the phloem flows from areas of ____ pressure to ____ pressure.


v. 
Phloem sap will flow to areas which are using or storing  ______.


vi. 
Biologists describe the sap flow as being from source to sink. Two “sinks” 

would be ___________ and ____________.

6. 
The leaf is an organ. Three tissues found in the leaf are: _____, _____, and _____. A specialized cell type found on the surface of the leaf is the ___________ cell.
7. 
The surface area to volume ratio is a convenient measure of the efficiency of a cell. 

Is a cubic cell with sides of 200 µm more or less efficient than a cubic cell with sides of 0.400 mm?

8.
A membrane permeable to water and glucose separates two solutions. Predict the results of the tests once the two solutions have equilibrated. (Use “+” to indicate the test will show a positive result).

	Test
	Solution A
	Solution B

	Iodine test
	
	

	Benedict’s Test
	
	


9.
Cells constantly adjust their metabolism to maintain homeostasis. 


Explain the meaning of this sentence. You will need to explain the meaning of 


metabolism and homeostasis.

10.
 The diagram below shows a concentration gradient. Refer to the diagram and explain what is meant by “molecules move down their concentration gradient.”


11.
a. Which structure in this diagram could be used in active transport? 


b. What is a second name for the plasma membrane?
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12.
A cell viewed under a microscope with a field of view of 50 µm covers ¼ of the 
field of view. What is the best estimate of the cell’s size?
13.
Name the organelles


a. The site of cellular respiration.

b. Produces vesicles which can later attach to the cell wall during exocytosis.

c. Contains digestive proteins which would harm the cell if released.

d. Contains the DNA.


e. A membrane involved in moving material around the cell.


f. Can synthesize organic molecules from carbon dioxide and water.


g. Storage site.
14. 
Label the following. 
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15. 
It is hypothesized a large, mature oak tree can lift 350 kg of water each day. Explain all the steps that occur in the tree and name all the tissues involved in doing this lifting. 

xylem





phloem





photosynthesizing cells





glucose





water





Solution B





90% water


10% starch





Solution A


90%  water


10% glucose





Label leaf structures





Label leaf 


structures





Label organelles








